An exponential equation is one in which a variable occurs in
the exponent.

An exponential equation in which each side can be expressed in
terms of the same base can be solved using the property:

ifd* =57, thenx = y. (whereb >0andb#1)
& If the bases are the same, set the exponents equal.
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Since the bases are the same, set the sides of the equation as
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So.... How do you solve an exponential equation? Follow the steps below:

1. Rewrite each side of the equation so they have the same base.
Use your power card to help you change it to the lowest base!

2. Set the exponents equal to each other because of the property of equality

[ Property of EQUALITY: If b*=bP, thenx=p (whereb>o0andbx1) ] :

3. Solve the “simple equation”.

4. Check the solution by substituting the value into the original equation!



Practice: Solve each exponential equation.
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